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A portable hard drive is an example of
internal memory,

Magnetic tape is used to store backups of
data.

RAM is internal memory.

ROM loses its data when the power is tumed
off.

4 correct ticks 2 marks
2 or 3 correct ticks 1 mark
and 1 or 0 ticks no marks
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Similarities
Both read/scan data using optical methods
Both use direct data entry

Both are input devices

Both read data from printed documents
Both input large amounts of data

Both read data very quickly

Differences

OMR does not need to read the characters written only the marks OMR is
unable to recognise machine or hand-printed characters For OMR to read,
marks need to be within a specified area

The OMR marks have to be in the correct location

OCR is more accurate at reading detailed data
Data read from an OCR can be manipulated by word processing software
OCR requires manual intervention to change the scanned words.

To gain full marks candidates must have correct answers for both
similarities and differences
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Software that interacts through speech recognition
Uses the spoken word/voice ...

_to carry out actions/control devices
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Benefits
Allows for hands free control

Safer than using a standard interface
More useful for physically disabled users

Drawbacks
Limited access due to the number of commands stored

More expensive to develop

May not operate reliably due to background noise/speech impediment/accents
Need to be ‘trained’ by the user

Can be distracting if the commands are not understood

To gain full marks there must be correct benefits and drawbacks
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Non-volatile

Stores data permanently

Slower 10 800888 then intamal memory
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